
How to fix a double - black violation
-

z ← child of deleted node ( which is double - black)

loop
invariants : only possible violation of tree

properties is that z is double - black

exit when z = root or z is not extra black

do one of the local fixes on next
slides

end loop
Z - colour ← black



Case I : Z 's sibling is red Case 2 : Z 's sibling and

I both nephews black
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of other cases tree



Casey Z's sibling black Casey Z 's sibling black

Z 's near nephew red Z 's far nephew is red

zig far nephew black
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How many rotations ? At most 3 .


